Math 099 - Fall 2009 - Test 3

n
Instructor: Dr. Francesco Strazzullo Naue l/(b )('
Instructions. Ouly calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit].

1. (15pts) You work for h hours at $6.25 per hour. If you obtain a 15% rise, how much do you earn for
working 6 hours?
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2. (15pts) Iind the slope and the y-intercept for the equation @ — 4y = 4.
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3. Write the equation of cach straight line described.

(a) (10pts) Vertical through (3, —1).
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(b) (15pts) Through (3,9) and (1,1).
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(c) (15pts) With slope m = 5/3 and through (-3, 1).
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4. A prepaid telephone card costs $12. Each minute costs $0.03 and there is none connection fee.

(a) (10pts) What equation describes the value remaining on the card after 2 minutes?
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(L) (10pts) How many minutes does one need to talk so that $2 are left on the card?
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5. (15pts) Carmen rents a Cessna 152 for $126 per howr plus $28 insurance fee. Write the equation
describing the total cost in dollars as a function of the {lying hours.
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6. (10pts) To meet expenses, a local theater group has a ticket sales goal of $2400. Regular tickets sell
for $16, and matinee tickets sell for $12. Write an incquality describing possible combinations of ticket

sales that would meet the goal.
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7. (10pts) Draw a graph showing all possible pairs (x,y) for which 3z — y > 2.

[T V8 A8¢% To Srges THE Sorgtiow ST oF  BX-)Y >2
I) N Qolvi For Yy U

Y > #2X+2

( 4 K -l

—b Y[ 3X - ¢
.

Dq,& Wb,
PBovadny
et

ROWDARY  LinG . Y= 2y -9
@ SArs  BiLow  bolinly L d
m—— -

IL) BpUsbaey Livd T BX-7 =2

o Looik ol

-~

¢)T@ DAAY \T Wi
The [~TGREFPES 1 ,
NI v AR I IX D b )(:“:,3
Y iRt T T X0 - Y2 DY=—2

Q) Test poir T (O} O_) 3R -0 > 2 Fass .

3

)




